ST
22U =J/\=NRRY

S m XK
Hmd—F K38135
it i MFHA4000R
Ehm R iR MFH4000R-13

- B CENDRIE, HIEmitiniisle CEE T,
- HAERmD—EBICIE, FEH Y MEFTEDHDEPmDIHDFT,

HAEHIHIZOUT v



&

D ZiEXIZDONT

L. &0 THEX OB, MHHHE JHifg < 12
L

/oW %
ERan kAT (RO
T )
i & 5
1 5

MER RTINS ER AR TR S LK VAR ICREF D
R—LTL—FIRRLTLET,

©® e %

2. HEoH - ik, UFoEx2ERLTED
9,
He-vafs &L fHARAT TV D EEDELT,
i % 1z & 0 8275 55

-7 w24 RBICEEN A S CHETIRH
N R AT (A

3. RitLESH[  Jreun-ctuvaboil, @
W EEO B ERS PP DETOT, *
DO RS T WIS E T,

4. FREEO—&HIiciE, LDty MRGED
HDEREMH 0 £, THEXORRIT THEEL 7
IV, ISR L S TV OIS
oy FMRFEDADORIEE STV EET,

KA I BFIC L O PEHLE IR - MEEZLE
THEIENDBDET,

AERAOERERIZONT

fESSR ESEEE S E BEHOKD {2X 0,
MU R E B VI £4 &, o LT
HEREICEE T 25600 0 £7,

C OB OB S O FEER GHRED (.
SLEFT U0 R 9FETT, L, BHEERNT
H->Th BFHRIBSICOWT I3 & % THE
IHTVWEELESE LD T,

i EE SO A (JFER I EREoMAEFIRT
BT LZ I, EERREREZTH > T, i
HEE D THEFEN D - 2GS 3B X Otk iz o
WTTHHEEETWREEXE S,

{REEIZCDWVT

P OUUE THPEDIRR & 20 £ DT, fTd
BVWTLIEE W0,

gt L e e e Bk EF < oz L v
HFHHEHERZ 25613 RIAEOHRINICIED £
TOTITHEL LIV,



MFH4000R 7 3 L—UnN\—~KRR%
FrRyoX

RdEs| & &5 i bn # i) {EE i %
1 1401660004 Fror—2 1
2 0810883004 FARF v o7 1
3 BSZ10030 a#my RV T MI0X30 6
4 WSA10 NEXHH R 3T MIO 6
b 1300960002 NNV FR ;30T 1
6 1132600002 PICY v+ 7 b 1
7 J6208 K= X7 Y o7 6208 1
8 J6207 K—x71) v 6207 1
9 0341711000 DA 4
10 D35558 Ay =) D35X55%X8 1
11 1401670002 NNV F Y MSX13T 1
12 1401680002 Yy 7 b 1
13 0008240000 PICH /x= 2 1
14 J30307 T—Na =77 Yy 30307 1
15 D457212 A Ay =) DASXT2X12 1
16 073444000M VL 2
17 078908400M fYAa sy 7 F ey b M30X1.6 1
18 J6309Z K= x71) v 63097 1
19 1133980002 f17— 5 45X18 1
20 D559010 A vy —Jb D55X90X10 1
21 140169000M 717 —;45.56X9 1
22 0899470004 H /N — 1
23 0897611004 7= —F R 1
24 0897452004 V7 =1 ;200 1
25 BZ12040 Fovh 88 MI12X40 6




MFH4000R 7 3 L—UnN\—~KRR%
FrRyoX

RES| &5 & 5 G an # i) {EE i %
26 WSA12 NRHFEH R 3T MI2 6
27 046336200M fYAa sy 7 Fy b MAOX1.D 1
28 ONB6 7Y —2=w 7V B M6 1
29 0591333000 Fxw 777 AS 1
30 000338000M M107 5 7 1
31 0003390000 Ny Fry M7 T 73 9) 1
32 BZ12060 Fovh 88 MI12X60 6
33 042783600M Ty ¥y 12 4
34 WSAI2 NRHFH R 3T MI2 4
30 NZ12 Fv b 8 2¥a MIl2 4
36 0960890000 PIC#* + » 7§ 35 1
37 JLAQ45ASY W7 =Y a4 v+ LA—45 1




MFH4000R 7 3 L—2Nn\—~RZX%
K547

9 g 7 |
g/w
g/,,w
= 18
D19
[ 13969-1]

&S| &S 0 i % PR {(EE3 i g
1 1466570004 Fvvay7—4uCP 1
2 0717700000 Ty YV a 2
3 ONAG6 J)—Z2=y 7V A Mb 1
4 071883000M 7w ¥y 30.6X4.5 2
5 PC050045 7 1) By 5X4h 1
6 1466520004 7= 1
7 J6306LLU R—n~x71) v 6306LLU 2
8 DHC072 ChHszrxg 74 172 2
9 DC030 ChHszbxg Yo 30 2
11 115687100M v ¥avuoy FCP 1
12 VAGXLCO055 V~uuk LC—565 XA—¥—AG—X 4
13 000048200M v ; B8X35 1
14 044097200M Ty ¥y ;8 1
15 PC032016 J)EY 3.2X16 1
16 119888000M 27N VT A p4X23XTH 1
17 025266000M Fau X vHFH R 1
18 WRAI12 EI¥ A% M2 1
19 NZ12 +w b 8 2¥a2 MIl2 2




MFH4000R 7 4 L—Y/1\—~RR%
TI3ARA=IV » & p—IN—

75 FRy 7 Z(1)

HEIN
12939-5
RS W & 5 s i PR {(EE3 i E
1 1193650004 754 &4 —)ICP 1
6 0799983004 NG DT 2
7 1008810004 Frou? 2
9 0899550002 715 — ; 50X56.5 1
10 0899560002 717 — 5 50x30 1
11 J6310 R—x71) 7 6310 2
12 D588012 A Ay =) D58X80X12 2
13 G63756 ANy = GB3IXTHX6 2
14 BZ16040 Rk 8.8 MI16X40 8
15 NZ16 +v b 8 2va2 MI6 8
16 WSA16 NEHFH 3T MI16 8
17 | BSZ10030 aFgy RN T MI10X30 6
18 WSAI10 NEHH X 3T MIO 6
19 ONB6 7)==y 7V B Mb6 1
20 0897611004 7= =R 1
21 0897462004 V7 —1 ;180 1
22 BZ12040 Kb 88 MI12x40 6
23 WSA12 NERHA R 3T MI2 6
24 046336200M AYAa oy 7 Fy b MAOX1.5 2
25 1134311006 YaA v hAS 1
26 BZ12045 Rk 8.8 MI12x4b 2
27 WSA12 NERHA R 3T MI2 2
28 1134252004 >4 7 6
29 BX14150035 R b 109 MI14x1.50%35 24
30 118592100M NAF VT Yy 14X45 24




MFH4000R 7 3 L—2NnN\—~RZX%

TI3ARA=IV » & p—IN—

I39FRy 7 (1)
FEIN
12939-5
RS W & 5 s i PR {(EE3 i g
31 1134260004 +4 7 F®IVFCP 6 | Do2ft
32 | BCI10060 Kk 27y ¥y MIOX60 12
33 | NZC10 Fv b 8 3¥a MIO 12
34 | BX16150040 Fov k109 MI16X1.50x40 36
35 | NZ16150 Fv b 8 2¥a2 MI16X1.50 36
36 | WSA16 NE WA 3T M6 36
37 1401731004 Vo =N — 1
38 | BX112055 Fouk 109 ¥ MI2X55 2
39 | NZ12 Fv b 8 2¥a M2 4
40 | BX12075 Rk 109 MI2XT5 2
41 WSA12 NERHFH X 3T MI2 2
42 072013200M NATVT oy Ve ;12 2
50 JMDASY 24 % 23 MD  AS205 2
51 ONAG6 JV—=RA=w 7 A M6 1
52 | 8027560000 DA —




MFH4000R 7 3 L—2Nn\—~RZX%
73 9FKyIX()

75‘77?‘?7ﬁ~y72 (2)
. FHT\
12940-1| EfiHM
~a

U539 FRy I X (2)
BFHIN

RES| &5 & 5 i bn # i) {EE i %
1 1134333004 Frr—z2 ;L 1
2 1134341004 FrYor—2 ;R 1
3 BSZ10040 a#Fy RV T MI0X40 9
4 WSA10 NRHFH X 3Ty MIO 9
b PS080032 A7) ey 8X32 2
6 BZ12050 Fork 88 MI12X50 4
7 NZ12 Fv b 8 2¥a MIl2 4
8 WSA12 NEXHFT X 3TY M2 4
9 1134350002 Yy 7 b 1
10 1134360002 ¥ ; 16T—355P 1
11 0625860002 U 1
12 D30507 A vy =i D30X50X7 1
13 J6206 K= X7 Y 7 6206 2
14 0554000000 DA 1
15 1134370002 Yy 7 b 1
16 0814320002 Fy ;24T 1
17 1134380002 15— 35.TX25 1
18 0625860002 UM 3
19 0702081004 Fv 17T 1| &+v
20 0702071004 F ;19T 1| &+
21 056984000M 707 2
22 1134390002 ¥ ; 16T—30SP 1
23 1134400002 Yy 7 b 1
24 J6206 R—=x7 1) 7 6206 2
25 J6206LLU K= x7 1Y s 6206LLU 2

\
()]
\




MFH4000R 7 3 L—2Nn\—~RZX%

7959 FKRy o A1)

Rids| o & 0 i 4 PR T i £
26 D35558 A Ay =) D35XHHXE 1
27 | D356210 A4y —Iu D35X62%10 1
28 DHC062 CHsbxv T+ 62 2
29 DC030 CHsvxw Y7 30 1
30 1134410002 Y 7 b 1
31 0814320002 F ;24T 2
32 1134380002 715 — ; 35.TX25 1
33 1134360002 F+ ; 16T —356SP 1
34 0825750002 F ;18T 1
35 0814310002 F¥ ;15T 1
36 0814340002 Ty ¥y 36X2 1
37 0814300002 T — 1
38 059312200M h 5= 1
39 J6206 R—=x719Y V7 6206 4
40 0814291002 Y 7 b 1
41 0814350002 F¥ ;14T 1
42 0872231002 Ve 7 M TARS 1
43 NC2L20150 Fv oy ANFy b 2va2kZ7 M20X1.50 1
44 PC040040 7)Yy 4X40 1
45 075318000M F A * 1
46 JK303520 =—Fwx71) v K303520 1
47 ORGO030 oV vr G—30 1
48 0825772002 Y 7 b 1
49 0610702002 A= ;30%13.8 1
50 JWS81106 =—FKux7) vr WS81106 2
51 0814370002 F ;19T 1
52 0706431000 Ty YV a 2
53 0814380002 F¥ ;24T 1
54 0814390002 77y F 1
55 D40558 A4y —I DA0X55%X8 1
56 ORGO030 oV vr G—30 1
57 | D30507 Ay —ov D30X50XT 1
58 J6206 R—=x71) 7 6206 2
59 000338000M M107 5 7 2
60 0003390000 Ny Fy (MI0F 57 aw) 2
61 0591333000 Fzvw 2777 AS 1
62 0702091004 F ;16T 1| B+¥y
63 0702061004 F+ ;20T 1| B¥y




MFH4000R 7 3 L—2Nn\—~RZX%
73 9FKRyI2R(2)

14

FIN \ .
X’ . s

AT 18
11
FRy e ‘J’E‘f' :
BRI
RE&ES| Wi E 5 i i 4 PR {(EE3 i g
1 | 0825802004 F¥ 27Ok 5 bCP 1
2 | 075318000M | #H % 2
3 | NC2L20150 FpoyRF oy b 2¥aks M20X150 2
4 | PC040040 U EY 4X40 2
5 | DHC062 CHEMAT TF 62 2
6 | J6206LLU A—1L~7 Yo 6206LLU 2
7 | 0825790000 ¥ 15T 1
8 | 0814415000 ©7 4CP 1
9 | 0826553004 ©7 b7 —L4CP 1
10 | ORP020 0)>v7 P—20 2
11 | 000056200M £ 5 B10X40 1
12 | PC0O32016 7)Y 3.2x16 1
13 | 000067200M | &> ; B12X60 2
14 | 000085200M | ~—# v ;8X16 2
15 | 1134440004 270y b ;23T 1
16 | 0811753004 o=KL RS 1
17 | 0811771000 Ty va 1
18 | 0825812002 Y7 b 1
19 | WRA30 ES#A % M30 1
20 | 0826620004 h5— 1
21 | J6206LLU A—1L~7 Yo 6206LLU 2
22 | 075318000M | ##4 % 1
23 | NC2L20150 FpuRNF oy b 2vaks M20X1.50 1
24 | PC040040 T EY 4x40 1
25 | DHC062 CHEMAT TF 62 1

\
co
\




MFH4000R 7 3 L—2Nn\—~RZX%
73 9FKRyI2R(2)

ETHIE

FRy e ‘J’E‘f' :
BRI
3 3
RE&ES| Wi E 5 i i PR {(EE3 i g
26 | 0825832004 RGN HY VY 1
27 | ONA6 7)—2=y 7N A M6 2
28 | 0446912000 Yo — A b e
29 | NSP08 AXGRATY VT F o b 4 M8 4| FhE3
30 | BZ12025 Rk 8.8 MI2X25 1
31 | WSAI12 NEFAF 3TY MI2 1
32 | LA50038 D—5Fx—> 50x38L 1
33 | AAO5O v E 5 1




MFH4000R 7 4 L—Y/1\—~RR%
A—=Jv; U

75vFRy A (2)

#E18A
RS W & 5 s i % PR {(EE3 i g
1 0669544006 YaA v hAS; 2 1
2 1134490002 vy 7 FCP 1
3 0665764006 YaA Vv IhAS;1 1
4 ONA6 7)==y 7V A Mb6 1
5 BZ12045 Ao b 88 MI12X45 2
6 WSA12 NWERHFH X 3Ty M2 3
7 1407931004 ) ¥ o—ILCP 1
8 096104100M Ty Yy 2
9 0702872000 Ty Va 2
10 WRA30 EZH 4% M30 1
11 1134541004 A4 F7—=4CP; R 1
12 1134591004 A4 RK7—=24CP; L 1
13 ONB6 7)) —2=y 7 B Mb 4
14 | 1134603004 7 4+ — Ko —JCP 1
15 096104100M Ty Yy 2
16 0702872000 Ty Va 2
17 WRA24 L M24 1
18 PC050036 7 EY 5X36 1
19 070290100M 77— 2
20 | 0811090004 27 a’sy b ;18T 1
21 1134420004 Z7a’y b 20T 1
22 WRAZ24 L9 A x M24 2
23 PC050036 7Y EY 5X36 2
24 LA50045 o—35F x— v 50X45L 1
25 0800300004 A Z IV 2

\
—
o

\




MFH4000R 7 4 L—Y/1\—~RR%
A—=Jv; U

75vFRy A (2)

#E18A
RS W & 5 s i % PR {(EE3 i g
26 059483000M 717 %K b D MEX25 4
27 NSP08 ARIRATY) v ITFw b 4 M8 4
28 113465100M o—)7—=4CP; 1 1
29 113468100M o—)7—4CP; 2 1
30 | PS080050 27N v ey 8X50 1
31 1134700004 V7 b7 — A 2
32 0702892000 Ty Va 4
33 | ONBS6 7)==y 7 B M6 6
34 066871100M 7= 2
39 058125200M Ty Yy, 26X2.3 4
36 | PC050036 7 EY 5X36 4
37 0814090006 27N T 2
38 070286100M 27N VTRV 2
39 | 025266000M FaUA VLR 2
40 BX112070 Foh 109 €y MI2XT0 2
41 NZ12 +v b 8 2¥a2 M2 3
42 AA050 v F T 1
43 BZ12060 Ao b 88 MI12X60 1




MFH4000R 7 4 L—Y/1\—~RR%
a—JV; Lo, ¥a9¥

759 FRy 2
5 HE4a8~
Sa
AE&Es| W0 &= Bl i % PR %L i #
1 1193920006 YaA v hrAS 1
2 TRK10020 6hxxY 109 Z7+K3I MI0X20 1
3 NSZ10 angyFy b 8 2va MIO 1
4 083823000M 7w ¥+ ;30.5X3.2 1
5 1134810004 7L —va—CP 1
6 1134861004 Y7 b, FL—va—J 1
7 0811062004 A F IV 2
8 101743000M 7L — b 4
9 0811170004 7 — 4
10 115760000M 715 —; 30.56X23 1
11 DHC062 CH% A7 T4 62 4
12 NSZ10 anyFy b 8 2va MIO 6
13 WSA10 NRxHFH X 3T M0 6
14 JCS206LLU 2=y baux7) vy CS206LLU 2
15 081310100M o — 1
16 1134881004 7wa v boa—CP 1
17 1134931004 DR M = IV 1
18 055204100M T — 1
19 0007290000 A H I 2
20 JUEL206D1 2=y bavx7) vy UEL206DI 1
21 0702780004 A &I A 3—=CP 2
22 NSZ10 afmyFy b 8 22 MIO 6
23 WSA10 NERHFHA R 3T MI0 6
24 0811090004 Z7a’ly b ;13T 1
25 0702820004 ZA7ary b 1
26 1134420004 27 vy b 26T 1

\
—
DO

\




MFH4000R 7 4 L—Y/1\—~RR%
a—JV; Lo, ¥a9¥

Ry Wm &S i un # R %% i El
27 NC2L20150 FrwRANWFy b 2vakbs M20X1.50 2
28 075318000M P X 2
29 PC040040 7Y EY 4X40 2
30 LA50039 0o—5Fx—Y H0X39L 1
31 0825690004 27\ oy k18T 1
32 LA60037 0—5Fx—Y 60xX37L 1
33 1134940004 TV ¥av7—4CP 1
34 NZ16 Fv b 8 2¥a MI6 2
35 WSA16 WYX 3TY M6 2
36 WRA16 EIH#Hx M6 2
37 081267000M Tv¥ave—35CP 1
38 DCO017 ChHsrxvw Yo 17 1
39 1002670000 Yy T b, AU VS 1
40 1002641004 27w’y CP 1
41 081459100M oy 7 ey 1
42 067032100M RN T 1
43 DCO025 Chsbrxrxv Yo 25 1
44 J6205Z K= xX7 1) 7 62057 2
45 DHC052 ChHsrxv 73 52 2
46 1002660000 Ty ¥a 1
47 081381100M 7L — b 1
48 1002650004 77y FHRNVY— 1
49 NC2L20150 FrwvRANWFoy b 2¥vak”r7 M20X1.50 1
50 PC040040 7Y EY 4X40 1
ol PS050050 27 v 7E Yy 5X50 1
02 ONA6 JYVZR=y 7 A M6 2
93 1153791004 R L= 1
o4 BX10035 For k109 MI10X35 2
00 WSA10 NEXHH R 3T MIO 2
o6 075290100M 7y ¥y ;10 2
o7 0674891000 Fa2vatr—2XCP; 800 2
o8 EWK869932 SFv+7 (1,78) 2
99 EWK869935 LFY¥7 (178 2
60 EWK864106 SFv &7 (M6) 2
61 EWK864206 LFY¥7 (M6) 2
62 ONBS1 7V —2=v 7N B PT1/8 4
63 ILT100 {Avyaoy 754 2.5X100 4
64 1038750000 IRy JAN=2R 4
65 AA050 vFF 50 1
66 ADO050 7€y b7 50 1
67 AA060 vFET 60 1
68 ADO060 72y bU s 60 1
69 0831702000 Favatr—2CP; 900 2
70 081114100M A 1
71 BZ06012 Fork 88 M6X12 3
72 WiS06 NRHFH R 239 M6 3
73 NUZ10 U+~ b 8 MIO 2
4 0704200000 DN —
75 JUC206D1 2=y b3avx7Y s UC206D1 1
76 JSEASY Z2NA 5 73 SE  AS106 2




MFH4000R 7 3 L—2Nn\—~RZX%
T340

RES| &5 & 5 G an # i) {EE i %
1 1139410004 Fr 7 1
2 ONCS1 7V —2=v7) C PT1/8 1
3 KMSTO014 THEYrIAVF w7 14 1
4 1139421004 Rov s 1
b 1139430004 F v b 1
6 1139441000 Ty ¥a 1
7 1139551000 7oA vy 1
8 0007170000 Fa—2tV 1
9 1241081004 #1783 —=CP 1
10 1241090000 Yy 7 b U= 2
11 076510000M FavnNv 3
12 072013200M NAT YTy Yy 12 4
13 BZ12030 Fovh 88 MI12X30 4
14 WSA12 NEXHFT X 3TY M2 4
15 BSPZ08016 aAISWY FHLE T M8X16 12
16 BSZ10030 a#my R T MI0X30 2
17 044098500M 7y ¥y 10.6X3.2 2
18 WSA10 NRHFH R 3T MIO 2
19 113945000M NV FILCP 1
20 1139480000 x2vay 7 hI— 1
21 1139563004 Yy w7 —HhCP 1
22 ORP60 OV v7 P60 1
23 000087200M N—F BV ;16%X2.3 1
24 1489080000 v 406 —

\
—
o~

\




MFH4000R 7 3 L—2NnN\—~RZX%
7 U—L

RES| &5 & 5 G an # i) {EE i %
1 1401743004 A4 V7 L—AuCP 1
2 1135162004 A4 v 7 L—=4CP;2 1
3 BZ12035 Fork 88 MI12X35 2
4 WSA12 NRHFH R 3T MI12 2
5 NZ12 Fv b 8 2¥a M2 2
6 078063100M 77— 2
7 BZ16060 Fovh 88 MI16X60 2
8 WSA16 NRHHF 3T M6 2
9 NZ16 Fv b 8 2¥a MI6 2
10 042322200M Ty Yy ;16 2
11 1201480004 FhL7L—HCP; A 1
12 1201490004 fhL7L—HCP; B 1
13 BSZ08020 a#my R T M8X20 3
14 055474000M B %KV 88 M8X20 4
15 044097200M Ty ¥y ;8 4
16 NSP08 AHNYRATY T Fy b 4 M8 7
17 BSZ10060 a#my RV T MI0X60 6
18 BSZ10030 a#my RV T MI0X30 4
19 075290100M 7y ¥y ;10 10
20 NSZ10 a#myFy b 8 2¥a2 MIO 10
21 WSA10 NRHFH R 3T MIO 10
22 WRA10 EI¥ X MI0 10
23 1135651004 Z 4 v RCP 1
24 077934200M =i 1
25 000738000M JYyFEY ;6 1




MFH4000R 7 3 L—2NnN\—~RZX%
7 U—L

RES| &5 & 5 G an # i) {EE i %
26 0241180000 7y 7 1
27 BZ12130 Fovbh 88 MI12X130 1
28 NNF12 75 vVFA4mriy b MI2 1
29 1135860004 Yy VY 2
30 BZ12090 Fovb 88 MI2X90 2
31 NNF12 75 vYFAuariy b MI2 2
32 113589000M T VI 2
33 BSZ08020 a#my R T M8X20 4
34 0808270004 7L — b 2
30 CMO08025 +H7axy M8X25 4
36 113591000M A% 2
37 05547400M A7 x A 88 M8X20 4
38 NSP08 AHNYRATY T Fy b 4 M8 8
39 070638200M =i 2
40 120225000M VYyFEY 27T 4 —F vy FUYF 4
41 079140100M Fo—/NEy 1
42 000739000M DvFEY ;9 2
43 1064800000 Z N r A 3766 1
44 0889790000 7~ 540~600rpm 1
45 1215040004 Yal oy yCP 1\ A7vav
46 NNF08 75 vYFA4uv vty b M8 4
47 1560980004 A —




MFH4000R 7 3 L—I/1\—~RZX%
Y7 b7—4A

w

A I—L4

13
YIN—A Y&
20 .17‘J
&\ 171?28'\
% <
l/ \
12946 5

RS W & 5 s i % PR {(EE3 i E
1 1371140004 V75477 —LCP 1
2 ONB6 J) A=y 7V B M6 1
3 119689000M v CP 1
4 BSZ10030 aAy RNV T MI0X30 1
5 WSA10 NEHFH xR 3T MI0 1
6 115167000M 27 1) a=T V% Ak 1
7 087229100M gy 74y b ;20 1
8 066915100M 27N TRV 1
9 ONAG6 JV—=RA=w 7 A M6 1
10 0813710006 27N T 1
11 081372000M 27N T RVE 1
12 081375100M vy 1
13 000739000M JryFEY;9 1
14 0813701206 Ly vy 35X1T75 1
15 BZ16100 Fov k8.8 MI16x100 1
16 081515100M vy 1
17 000739000M DyFEY ;9 1
18 128821000M v B20X90 1
19 NSZ10 axyFy b 8 2va MIO 1
20 NN16 FA4Bo v+ v b M6 1
21 120255000M VvFEY 27T —F vy FUF 1




MFH4000R 7 3 L—2NnN\—~RZX%

HIN—

T
B!

A& &5 B i % i) %% i
1 1402062003 713—=CP ; R1 1
2 0796583000 =F1 ;50 2
3 079659100M H TN R 8
4 044097200M 7y Yy ;8 2
5 PS040016 27N v ITEY 4X16 2
6 1402070003 J1x—; R2 1
7 0796583000 =F1 ;50 2
8 079659100M TN R 8
9 044097200M Ty Yy ;8 2
10 PS040016 27N v TE Y 4X16 2
11 1138450003 J1/N—; R—3 1
12 BSPZ08016 aHISWYyFRIb T M8X16 2
13 WRAO08 ES¥ A% M8 2
14 1402080003 #1/3—=CP ; R4 1
15 BSPZ08016 aHIZSWYFRKIb T M8X16 2
16 WRAO08 ES¥ A% MS 2
17 1402090003 HpN— T —=1) — 1
18 BSPZ08016 aHIZSWYFRIb T M8X16 2
19 WRAO08 ES¥ A% M8 2
20 1138432003 7123—=CP ; LO 1
21 BSPZ08020 aHIZSWYyFRKb T M8X20 2
22 1193890003 J1oN— ;L3 1
23 BSPZ08016 aHySWyFHRbr T M8X16 2
24 055474000M 7 xFRIE 88 M8X20 1
25 WRAO08 ES¥ A% MS 3

|
—
o

|




MFH4000R 7 3 L—2NnN\—~RZX%

HiN—
7
P
R W &5 0 i % PR {(EE3 i £
26 NSP08 AXIRATY) v TFy b 4 M8 1
27 1193910003 Ao — ;L2 1
28 055474000M H7FxFINVE 88 M8X20 4
29 WRAO08 EsHHx M8 3
30 044097200M Ty ¥y ;8 1
31 NSP08 AHYRTY) v TFy b 4 M8 4
32 1440881003 #3—=CP; L—1 1
33 0796583000 =F1 ;50 1
34 079659100M + TN R 4
35 044097200M Ty ¥y ;8 1
36 PS040016 27NV ITEY 4X16 1
37 0333782000 AR 1
38 NSP08 AHXIRATY) T Fy b 4 M8 2
39 1138500003 71/3—= /7 CP 1
40 1061710000 I\, r14as8 2
41 1064780000 )V A 3764 1
42 1163941000 SN FavkAl 1
43 1163950000 TN, FavkA2 1
44 1339780000 STAR=—7 5~ ; 40 2
45 1151210000 7 ~b ; MFH4000 1
46 1061720000 TN, r43as9 1
47 1065310000 SRV 2 =R/ R R 1
48 1579840000 TN A Y 7T FT 7830 1




MFH4000R 7 3 L—2n\—~RZX%
TIOM ATAFVaINA4T

RES| &5 & 5 G an # i) {EE i %
1 113730300M 57 +CP 1
2 BZ12035 Fovb 88 MI2X35 6
3 WSAIL2 NRHFH R 3T MI2 6
4 NZ12 Fv b 8 2¥a MIl2 6
b 055640100M 75 vV 1
6 0442890000 =F1 ;M8 2
7 1160041003 7 5 v YCP 1
8 BZ12035 Fovb 88 MI2X35 6
9 WSAIL2 NRHFH R 3T MI2 6
10 NZ12 Fv b 8 2¥a MI2 6
11 0814611002 U4 — Lk A - 2
12 BZ12060 Fork 88 MI12X60 8
13 WSA12 NRHFEH R 3T MI12 8
14 NZ12 Fv b 8 2¥a2 MI2 8
15 1001382003 75 v YCP 1
16 PS080040 27N v TE Y 8X40 4
17 ONC6 7Y —2=w 7N C M6 4
18 100137000M =g 1
19 PS050032 27N ey 5X32 2
20 096536200M 7 A Rk 1
21 067931100M Ty ¥y 12 1
22 NT1219030 714w b MI12X19X30 1
23 WSA12 WYX 3TY M2 1
25 0814600002 22 1
26 1196010003 A GV 2

\
DO
S

\




MFH4000R 7 3 L—2n\—~RZX%
TIOM ATAFVaINA4T

RES| &5 & 5 G an # i) {EE i %

27 0814631000 Ty Va 2

28 ONA6 JYV—2=w 7V A M6 2

29 BSZ10045 a#y RV T MI0OX45 4

30 WSA10 NRHFH X 3Ty MIO 4

31 NSZ10 a#myFv b 8 2¥a2 MIO 4

32 PS080050 27N v ey 8X50 1

33 071615200M B v 1

34 044098500M 7y ¥y 10.6X3.2 1

39 PC032016 7)EYy 3.2X16 1

36 1061640000 NN r4asl 1

37 1065251000 PRV = /8 B8 1

38 0467530003 A7 RAFv¥av~NA7CP 1| A7Fvav
39 BZ12035 Fovk 88 MI12X35 6| AFva v
40 NZ12 Fv b 8 2¥a2 MI2 6| A7vav
41 WSA1L2 NRHFH R 3T MI2 6| A7Fvav
42 1132550000 A7 ATV ¥a A TAS 1| A7vav
43 1151210000 Z ~b ; MFH4000 1

44 042783600M Ty ¥y 12 6

45 0574600000 DN




MFH4000R 7 4 L—Y/1\—~RR%
Va—b, AVRAF a3 va—h

RS W & 5 0 TS| % PR %L i
1 1001362003 v a2—bhCP 1
2 081468000M v 1
3 PC050036 7)Y 5X36 2
4 0473930000 27 v ABX3TXT705 2
5 070286100M 27N VTRV 2
6 025266000M Fau A UHFH R 2
7 BAI12100 Rk 46 €y MI12x100 2
8 NZ12 Fv b 8 2¥va M2 2
9 7018020000 HA R 1
10 DC020 CHZ vx7 Y7 20 1
11 1158560003 + R =k 1
12 BSZ08025 aAgy RNV T M8X25 2
13 NSP08 AHTIRATY) v TFy b 4 M8 2
14 0814671003 27 —CP 1
15 076132000M vy 1
16 000085200M N—F BV ;8X16 1
17 | BSZ10030 aHmy RN T MI0OX30 2
18 NNF10 75 vVFAavFy b MIO 2
19 0843442003 A2 2AFvYay Ya—hCP 1
20 1174200003 ~v FCP 1
21 000451000M #17 xHv bk M10X 25 6
22 000443200M B xF K M10X 35 3
23 084346000M 77— 3
24 044098500M 7w ¥y ; 105X3.2 12
25 NSP10 aAHy ANy ISy b4 MIO 9

|
DO
DO

|




MFH4000R 7 4 L—Y/1\—~RR%
Va—b, AVRAF a3 va—h

RHES| W& = B i e PR %L i #
26 027445100M y7 27 ) v H 1
27 0826781000 o—7 1
28 159163000M 757y b 1
29 134161000M T VT 1
30 134162000M 7= ) CP 1
31 0703432000 73 /N — 1
32 BSZ08020 Iy RN T M8X20 4
33 NSP08 aAanNyZAFTY) 7+ b 4 M8 6
34 TRK06012 6hxxv 109 7K M6X12 1
35 NZ06 v b 8 2¥2 Mb 1
36 1339780000 STAR~—=7 7~ ; 40 2
37 0469010003 A9 ZA57vvavya—bhCP 1| 473 v (500mm%s)
38 BSZ08025 Iy RS T M8X25 2
39 080414100M Ty ¥y ;8 2




MFH4000R 7 3 L—2NnN\—~RZX%
a7y

VIRT—L  aqfooL—4

F514 HE1
\%.9/6 N

[13974-1]

RES| &5 & 5 i bn # i) {EE i %
1 CLF40M h75 AR PT12 1
2 0007781000 N7 7F%v7 51,72 1
3 2083 —08—04 = 7V PT1/2X1/4 1
4 0009830000 Z by TN T 1,4 1
b KHO0405000AP | =7 v & —2 1,/74X5000 1—4 1
6 1035—04 t =T VF45 PF1/4XPT1/4 1
7 ILT300 1vvaoy 754 48X301 3




MFH4000R T+ U—INN—ARZXH
vEoJEY, FVEDaY MO-

//

. /@
<7

TIwFRy T X (2) N

9
17
Ri&Es| Wam &S i B # i) {EE i
1 1201241000 T—% Uxr— 4 1
2 BSZ08025 a#my R T M8X25 4
3 NSP08 AHNYRTY T Fy b 4 M8 4
4 1591620000 NI =g VY FE—F 1
b BP06012 SWY++Fvk 46 M6X12 3
7 0814421000 AR ANV A 1
8 1353630000 24w FERy TR 1
9 1345450000 a—F ;5000 1
10 1142581000 a—F ;2 1
11 ILT100 fvvamy 7545100 7
12 1038750000 IRy JZAN=2R 4
13 ILT300 Avvaoy 7545300 4
14 119600000M oy TN T 1
15 TRK08020 6hAxY 109 7K M8x20 1
16 NSZ08 a#myFy b 8 2¥a M8 1
17 FUS0A Ea—X;30A 1
18 0840720000 A4y F ;S—338 3
19 FU30A Ea—X;30A (Ya—tAD 1
20 FUIBA Ea—X;15A (759 F~y FAD 2




MFH4000R 7 3 L—2NnN\—~RZX%

FINAY

13975 |

Ri&s| & o &5 i nn # i) {EE i
1 0838523003 T34 FCP 1
2 0734180003 H R = rk VT —=CP 1
3 073419100M PAR—= b= 1
4 067925000M TV 7'CP 1
b 042783600M Ty ¥y ;12 4
6 BZ12040 Fork 8.8 MI12X40 2
7 NZ12 Fv bk 8 2¥a MIl2 4
8 WSAILZ NERHH X 3T MI12 2
9 BSZ10030 a#my R T MI0X30 2
10 NSZ10 a#myFy b 8 2¥a MIO 1
11 WSA10 WYX 3TY MI0 1
12 100183000M 7L — b 1
13 BSZ10030 afgy Rt 7T MI0OX30 2
14 NSZ10 a#myFv b 8 2¥a2 MIO 2
15 WSA10 NRHFH R 3T MIO 2
16 044098500M 7y vy ;10 2
17 1415650003 77w rCP; L 1
18 BSZ10070 a#Fy RV T MIOXT0 2
19 044098500M 7y vy ;10 2
20 NNF10 75 vVFA4m vy b MIO 2




MFH4000R 7 % L—U/\—A~RRX%
TGA¥ - 1NT

RdEs| & &5 i bn # i) {EE i %
1 1548560000 74 % ;6.00—9—10PR 2
2 1548570000 Fa2—7;6.00—9 2
3 064906100D T A = 4.00EX9DT 2
5 BZ12025 Fovb 88 MI2X25 12
6 NZ12 +v b 8§ MI2 12
7 WSA12 NEXHH R 3T MI2 12
8 0004065003 NT 5 AB2XT2 2
9 J30207 T—Na—=IxX7 1) vy 30207 2
10 J30205 F—=Nm =571 v 30205 2
11 000500000M V=7 y vy ; 35XT2 2
12 WRA24 EIHHx M24 2
13 000712000M F ooy RSy b M24X1.5 2
14 PC040032 7Y EY 4X32 2
15 000414000M Frw 702 2
16 000421000M RV b M12X1.60X45 12
17 NZ12150 Fv b 8 2¥a2 MI12X1.50 12
18 WSA12 NRHFH R 3TV MI2 24
19 ONBS1 7)) —2x=vw 7 B-PT18 2
20 1557000000 54 vAS; 6.00—9—10PR -




LA—45

IND—D a0k

RES| #&Es | s & # i | % | f
L A — 45
Asy | JLAO45ASY N7 —YaA v hr LA—45 1
1 JLAO451ASY YaA v AvFr I LA—45 1
2 JLAO452ASY VaAvhr Tvuys I LA-45 1
3 JPYLA vrywyda—2 (LA) 2
4 JLAASY ZNA4 4 73 LA AS270 2
5 JFYLA1 TawvTavya—rv A v+ (LA 1
6 JLA0451 WA 7 A4 v LA—45 1
7 JPC14ASY 75 v7FEY 73 (14) 2
8 JLA0453 Ty AN— A vF LA-45 1
9 PS100075 27 v rEy 10X75 1
10 JYPLAO45 WAy FA—7 LA—45 1
1 JLA0454 Ty AN— Ty LA-45 1







S—1902220U

F ®m A £ 066-8555

TEEZEF 066-8555

EESEM 098-4100

wILh B %P 080-2462

RIZREEEFT 086-1152

TEEE XM 0283172

B EZEM 9383-0013

INUE 2 PFr 323-0158

REEEM 485-0081

ML EZEFR 700-0973

BEARE XM 861-8030

# I = X P 885-1202

T W ERH#LIO6E 1 F M2
TELO123-26-1123
FAX0123-26-2412

T f B R L0661 F M2

TELO123-22-5131
FAX0123-26-2035

KiGHEE TRy oy 1191%FHM44
TELO162-82-1932
FAX0162-82-1696

MmN 22%d 1 THL2HFH4

TELO155-37-3080
FAX0155-37-5187

EARE P E R 2 THL 64 2
TELO153-72-2624
FAX0153-73-2540

G TIRACET O NS 11 %1204 3

TELO198-46-1311
FAX0198-45-5999

BRI AL TR R X B R 179 - 1
TEL O22-388-8673
FAX022-388-8735

oA B o #2512 -1
TEL 0285-49-1500
FAX0285-49-1560

EHMBE AN TN TILE 678 -1

TELO568-75-3561
FAX0568-75-3563

By I BB I AE X B 704-103

TELO86-243-1147
FAX086-243-1269

REEARTRIX/NIET1639-1
TEL 096-389-6650
FAX096-389-6710

B IR UL AR S T v T AR5 1003 - 2

TEL 0986-53-2222
FAX0986-53-2233

b
MUy
X

T. 31.

02. 2S @



